FORM A(R1): BID (See B9)

1.	Contract Title	PROVISION OF REMOVAL OF DUTCH ELM DISEASED TREES				
2.	Bidder					
		Name of Bidder				
		Usual Business Name of Bidder as it appears on Invoice (if different from above)				
		Street				
		City Province Postal Cod				
		Email Address of Bidder				
		Facsimile Number				
	(Mailing address if different)	Street or P.O. Box				
		City Province Postal Cod				
		GST Registration Number (if applicable)				
		The Bidder is:				
	(Choose one)	a sole proprietor				
		a partnership				
		a corporation				
		carrying on business under the above name.				
3.	Contact Person	The Bidder hereby authorizes the following contact person to represent the Bidder for purposes of the Bid.				
		Contact Person Title				
		Telephone Number Facsimile Number				
4.	Definitions	All capitalized terms used in the Contract shall have the meaning ascribed to them in the General Conditions and D3.				
5.	Offer	The Bidder hereby offers to perform the Work in accordance with the Contract for the Price(s), in Canadian funds, set out on Form B: Price appended hereto.				

6.	Commencement of the Work	The Bidder agrees that no Work shall commence until he/she is receipt of a notice of award authorizing the commencement of the Work					
7.	Contract	The Bidder agrees that the Bid Opportunity in its entirety shall be deemed to be incorporated in and to form a part of this offer notwithstanding that not all parts thereof are necessarily attached to or accompany this Bid.					
8.	Addenda	The Bidder certifies that the following addenda have been received and agrees that they shall be deemed to form a part of the Contract:					
		No Dated					
9.	Time	This offer shall be open for acceptance, binding and irrevocable for a period of ninety (90) Calendar Days following the Submission Deadline.					
10.	Signatures	In witness whereof the Bidder or the Bidder's authorized official or officials have signed this					
		, day of, 20					
		Signature of Bidder or Bidder's Authorized Official or Officials					
		(Print here name and official capacity of individual whose signature appears above)					
		(Print here name and official capacity of individual whose signature appears above					
		(i fine note than to and emolal capacity of individual whose signature appears above					

FORM B(R1): PRICES (See B10)

PROVISION OF REMOVAL OF DUTCH ELM DISEASED TREES

01111	UNIT PRICES						
ITEM	DESCRIPTION	SPEC.	UNIT	APPROX.	UNIT		
NO.		REF.		QUANTITY	PRICE		
SECTION A – South Winnipeg-St. Norbert							
1.	Boulevard Elm Removal Services	E3	each	33			
'-	Sec A Class 1 (0 cm to 19.9 cm)		Cacii	33			
2.	Boulevard Elm Removal Services	E3	each	36			
۷.	Sec A Class 2 (20 cm to 39.9 cm)	E3	eacii	30			
3.	Boulevard Elm Removal Services	E3	ooob	15			
٥.			each	13			
1	Sec A Class 3 (40 cm to 59.9)	Го	aaah	6			
4.	Boulevard Elm Removal Services	E3	each	6			
_	Sec A Class 4 (60 cm to 79.9 cm)	F2	b	4			
5.	Boulevard Elm Removal Services	E3	each	1			
	Sec A Class 5 (80 cm and greater)	- 4		400			
6.	Private Property Elm Removal Services	E4	each	129			
_	Sec A Class 1 (0 cm to 19.9 cm)	- 4		00	ļ		
7.	Private Property Elm Removal Services	E4	each	92			
	Sec A Class 2 (20 cm to 39.9 cm)	E4		E4			
8.	Private Property Elm Removal Services	E4	each	51			
	Sec A Class 3 (40 cm to 59.9 cm)	E4		40			
9.	Private Property Elm Removal Services	E4	each	18			
10	Sec A Class 4 (60 cm to 79.9 cm)	E4		4.4			
10.	Private Property Elm Removal Services	E4	each	11			
	Sec A Class 5 (80 cm and greater)						
OFOT	COLD Design Malatana Design Design						
SECT	ION B – Daniel McIntyre, Point Douglas						
11.	Boulevard Elm Removal Services	E3	each	5			
1	Sec B Class 1 (0 cm to 19.9 cm)		Jugari				
12.	Boulevard Elm Removal Services	E3	each	14			
12.	Sec B Class 2 (20 cm to 39.9 cm)		Jugari				
13.	Boulevard Elm Removal Services	E3	each	114			
10.	Sec B Class 3 (40 cm to 59.9)		Jugari				
14.	Boulevard Elm Removal Services	E3	each	208			
' ''	Sec B Class 4 (60 cm to 79.9 cm)		Guon	200			
15.	Boulevard Elm Removal Services	E3	each	60			
10.	Sec B Class 5 (80 cm and greater)		Jugari				
16.	Private Property Elm Removal Services	E4	each	6			
	Sec B Class 1 (0 cm to 19.9 cm)	- '	Guon				
17.	Private Property Elm Removal Services	E4	each	44			
	Sec B Class 2 (20 cm to 39.9 cm)		23011				
18.	Private Property Elm Removal Services	E4	each	43			
	Sec B Class 3 (40 cm to 59.9 cm)		54511	.			
19.	Private Property Elm Removal Services	E4	each	36			
	Sec B Class 4 (60 cm to 79.9 cm)		23011				
20.	Private Property Elm Removal Services	E4	each	14			
	Sec B Class 5 (80 cm and greater)						
SECT	ION C : Elmwood-East Kildonan, St. Bonifa	ace, Transco	na	L	ı		
21.	Boulevard Elm Removal Services	E3	each	27			
	Sec C Class 1 (0 cm to 19.9 cm)						
22.	Boulevard Elm Removal Services	E3	each	67			
	Sec C Class 2 (20 cm to 39.9 cm)	I					

FORM B(R1): PRICES (See B10)

PROVISION OF REMOVAL OF DUTCH ELM DISEASED TREES

	PRICES				
ITEM NO.	DESCRIPTION	SPEC. REF.	UNIT	APPROX. QUANTITY	UNIT PRICE
23.	Boulevard Elm Removal Services	E3	each	71	
	Sec C Class 3 (40 cm to 59.9)				
24.	Boulevard Elm Removal Services	E3	each	42	
	Sec C Class 4 (60 cm to 79.9 cm)				
25.	Boulevard Elm Removal Services	E3	each	20	
	Sec C Class 5 (80 cm and greater)				
26.	Private Property Elm Removal Services	E4	each	43	
	Sec C Class 1 (0 cm to 19.9 cm)				
27.	Private Property Elm Removal Services	E4	each	88	
	Sec C Class 2 (20 cm to 39.9 cm)				
28.	Private Property Elm Removal Services	E4	each	139	
	Sec C Class 3 (40 cm to 59.9 cm)				
29.	Private Property Elm Removal Services	E4	each	88	
	Sec C Class 4 (60 cm to 79.9 cm)				
30.	Private Property Elm Removal Services	E4	each	35	
	Sec C Class 5 (80 cm and greater)				
	,				
SECT	ION D : River Heights-Fort Garry, Charlesv	vood-Tuxedo	-Whyte F	Ridge	
0.4	- ,			- 1 -	
31.	Boulevard Elm Removal Services	E3	each	7	
	Sec D Class 1 (0 cm to 19.9 cm)				
32.	Boulevard Elm Removal Services	E3	each	19	
	Sec D Class 2 (20 cm to 39.9 cm)				
33.	Boulevard Elm Removal Services	E3	each	76	
	Sec D Class 3 (40 cm to 59.9)			_,	
34.	Boulevard Elm Removal Services	E3	each	74	
0.5	Sec D Class 4 (60 cm to 79.9 cm)	- 0			
35.	Boulevard Elm Removal Services	E3	each	9	
20	Sec D Class 5 (80 cm and greater)			00	
36.	Private Property Elm Removal Services	E4	each	28	
27	Sec D Class 1 (0 cm to 19.9 cm)	_4	ac ak	102	
37.	Private Property Elm Removal Services	E4	each	103	
20	Sec D Class 2 (20 cm to 39.9 cm)		aach	100	
38.	Private Property Elm Removal Services	E4	each	102	
20	Sec D Class 3 (40 cm to 59.9 cm)	 -4	ooch	60	
39.	Private Property Elm Removal Services	E4	each	60	
40	Sec D Class 4 (60 cm to 79.9 cm)	 -/	ooob	27	
40.	Private Property Elm Removal Services	E4	each	37	
SECT	Sec D Class 5 (80 cm and greater) ION E: Mynarski, North Kildonan		1	1	
JECT	ION E. MYNAISKI, MONTH MIGUNAN				
41.	Boulevard Elm Removal Services	E3	each	37	
	Sec E Class 1 (0 cm to 19.9 cm)				
42.	Boulevard Elm Removal Services	E3	each	48	
	Sec E Class 2 (20 cm to 39.9 cm)				
43.	Boulevard Elm Removal Services	E3	each	89	
	Sec E Class 3 (40 cm to 59.9)				
44.	Boulevard Elm Removal Services	E3	each	131	
	Sec E Class 4 (60 cm to 79.9 cm)				
45.	Boulevard Elm Removal Services	E3	each	33	
	Sec E Class 5 (80 cm and greater)				
					·

FORM B(R1): PRICES (See B10)

PROVISION OF REMOVAL OF DUTCH ELM DISEASED TREES

ITEM	DESCRIPTION	SPEC.	UNIT	APPROX.	UNIT
NO.	BESORII HON	REF.	ONT	QUANTITY	PRICE
46.	Private Property Elm Removal Services	E4	each	35	
47.	Sec E Class 1 (0 cm to 19.9 cm) Private Property Elm Removal Services	E4	each	68	
	Sec E Class 2 (20 cm to 39.9 cm)				
48.	Private Property Elm Removal Services	E4	each	79	
49.	Sec E Class 3 (40 cm to 59.9 cm) Private Property Elm Removal Services	E4	each	60	
49.	Sec E Class 4 (60 cm to 79.9 cm)	L4	Cacii	00	
50.	Private Property Elm Removal Services	E4	each	36	
	Sec E Class 5 (80 cm and greater)				
SECT	ION F: St. Vital	•	•	•	
51.	Boulevard Elm Removal Services	E3	oooh	65	<u></u>
51.	Sec F Class 1 (0 cm to 19.9 cm)	ES	each	65	
52.	Boulevard Elm Removal Services	E3	each	61	
02.	Sec F Class 2 (20 cm to 39.9 cm)	20	Guon		
53.	Boulevard Elm Removal Services	E3	each	38	
	Sec F Class 3 (40 cm to 59.9)				
54.	Boulevard Elm Removal Services	E3	each	9	
	Sec F Class 4 (60 cm to 79.9 cm)				
55.	Boulevard Elm Removal Services	E3	each	4	
56.	Sec F Class 5 (80 cm and greater)	E4	ooob	168	
50.	Private Property Elm Removal Services Sec F Class 1 (0 cm to 19.9 cm)	C4	each	100	
57.	Private Property Elm Removal Services	E4	each	133	
0	Sec F Class 2 (20 cm to 39.9 cm)		Guon	1.00	
58.	Private Property Elm Removal Services	E4	each	77	
	Sec F Class 3 (40 cm to 59.9 cm)				
59.	Private Property Elm Removal Services	E4	each	43	
00	Sec F Class 4 (60 cm to 79.9 cm)			4.4	
60.	Private Property Elm Removal Services	E4	each	14	
SECT	Sec F Class 5 (80 cm and greater) ON G: Fort Rouge-East Fort Garry	1			
OLUT	1011 G. 1 oft Nouge-Last 1 oft Garry				
61.	Boulevard Elm Removal Services	E3	each	11	
62.	Sec G Class 1 (0 cm to 19.9 cm) Boulevard Elm Removal Services	E3	each	12	
02.	Sec G Class 2 (20 cm to 39.9 cm)	LS	Cacii	12	
63.	Boulevard Elm Removal Services	E3	each	85	
	Sec G Class 3 (40 cm to 59.9)				
64.	Boulevard Elm Removal Services	E3	each	99	
	Sec G Class 4 (60 cm to 79.9 cm)				
65.	Boulevard Elm Removal Services	E3	each	16	
66.	Sec G Class 5 (80 cm and greater) Private Property Elm Removal Services	E4	each	16	
00.	Sec G Class 1 (0 cm to 19.9 cm)	L4	Eacii	10	
67.	Private Property Elm Removal Services	E4	each	44	
0	Sec G Class 2 (20 cm to 39.9 cm)		Guon	' '	
68.	Private Property Elm Removal Services	E4	each	56	
	Sec G Class 3 (40 cm to 59.9 cm)				
69.	Private Property Elm Removal Services	E4	each	63	
	Sec G Class 4 (60 cm to 79.9 cm)	I	[

FORM B(R1): PRICES (See B10)

PROVISION OF REMOVAL OF DUTCH ELM DISEASED TREES

ITEM NO.	DESCRIPTION	SPEC. REF.	UNIT	APPROX. QUANTITY	UNIT PRICE				
70.	Private Property Elm Removal Services	E4	each	25	TRIOL				
	Sec G Class 5 (80 cm and greater)		00011						
SECT	SECTION H: St. James-Brooklands-Weston, St. Charles, Old Kildonan								
	Section 11. St. bullios Brooklands Weston, St. Sharles, Old Kildonan								
71.	Boulevard Elm Removal Services	E3	each	10					
	Sec H Class 1 (0 cm to 19.9 cm)								
72.	Boulevard Elm Removal Services	E3	each	29					
	Sec H Class 2 (20 cm to 39.9 cm)								
73.	Boulevard Elm Removal Services	E3	each	44					
	Sec H Class 3 (40 cm to 59.9)								
74.	Boulevard Elm Removal Services	E3	each	30					
	Sec H Class 4 (60 cm to 79.9 cm)								
75.	Boulevard Elm Removal Services	E3	each	1					
	Sec H Class 5 (80 cm and greater)								
76.	Private Property Elm Removal Services	E4	each	40					
	Sec H Class 1 (0 cm to 19.9 cm)								
77.	Private Property Elm Removal Services	E4	each	57					
	Sec H Class 2 (20 cm to 39.9 cm)								
78.	Private Property Elm Removal Services	E4	each	59					
	Sec H Class 3 (40 cm to 59.9 cm)								
79.	Private Property Elm Removal Services	E4	each	35					
	Sec H Class 4 (60 cm to 79.9 cm)								
80.	Private Property Elm Removal Services	E4	each	12					
	Sec H Class 5 (80 cm and greater)								

Name of Bidder			